CASE WESTERN RESERVE UNIVERSITY

Case School of Engineering

Department of Electrical Engineering and Computer Science

ENGR 210. Introduction to Circuits and Instruments (4)

Quiz No. 5
10/03/03
Name (Section): _________________________

Put answers in the space provided and show your work

Problem 1 (10 points)
Calculate iX, vO, and pO (the power dissipated by RL) given 

vS = 4 V, r = 40 k(, and RL = 70 k(.  Complete the table.
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	Variable
	Value for 
vS = 4 V, r = 40 k(, and RL = 70 k(

	iX
	

	vO
	

	pO
	


Given vS and r as above, choose the value of RL that give maximum pO, and calculate this value of pO.  Complete the table.
	variable
	Value for maximum power

	RL
	

	pO
	


Problem 2 (10 points)
Find the Thevenin and Norton equivalent circuit parameters for interface vO in this circuit.  Complete the table.
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	Element 
	Value

	vT
	

	RT
	

	iN
	

	RN
	


(vS














15 k(





10 k(





5 k(
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